Roots of polynomials
1)

a)
Solve the cubic equation x3 + x - 10 = 0, given that one of the roots is x = -1 + 2i.
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b)
Solve the cubic equation x3 - 9x2 + 23x - 15 = 0, given that the roots are in arithmetic progression.
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c)
The equation 2x2 + 4x + 3 has roots  and . Find the equation with the roots 1/ and 1/.
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2)

a)
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b)
Consider the cubic 
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. One of the roots is 2 and the sum of the roots is 4. Find b and c.
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c)
Find the roots of 
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 given that they are in geometric progression
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3)

a)
The equation 
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b)
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c)
Find the roots of 
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, given that they are in arithmetic progression (AP).


4)
a)
Given that the equation 
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b)
Given that 
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c)
Find the roots of 
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d)
Use the method of differences to find 
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Answer

1)


roots are 2, -1 + 2i and -1 - 2i.
b)
x3 - 9x2 + 23x - 15 = 0 roots are in AP


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c)
2x2 + 4x + 3 has roots and .

or y = 3x2 + 4x + 2
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2)

a)
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b)

[image: image33.wmf]6

2

3

+

+

+

cx

bx

x



[image: image34.wmf]1

1

3

6

=

-

-

=

+

+

=

ag

bg

ab

c

.









[1]

c) roots are in G.P. Let roots be 
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If 
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, p = 1/2 then roots are 1/2, 1 and 2. 
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If r = 1/2, p = 2, then roots are 2, 1, and 1/2, as above.
3)
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Roots are 
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Roots are 
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